
I have 5 buttons in the TTMSFNCToolbarPopup and each of the buttons have height and 
width set. The Left and Top of each button is set to -1. 
 
The TTMSFNCToolbarPopup AutoAlign is set to True. 
 
Before calling the Activate function of the ToolbarPopup, the visibility of each of the buttons 
is set according to their functionality: 
 

case TBaseObject(Parent.DataObject).ObjectType of 
      otRadar: 
      begin 
        fncToolBarPopup.Buttons[POP_RADAR].Visible := False; 
        fncToolBarPopup.Buttons[POP_FAVOR].Visible := True; 
        fncToolBarPopup.Buttons[POP_QTINE].Visible := True; 
        fncToolBarPopup.Buttons[POP_BACKT].Visible := True; 
        fncToolBarPopup.Buttons[POP_REMOV].Visible := False; 
      end; 
      otFavourites: 
      begin 
        fncToolBarPopup.Buttons[POP_RADAR].Visible := False; 
        fncToolBarPopup.Buttons[POP_FAVOR].Visible := False; 
        fncToolBarPopup.Buttons[POP_QTINE].Visible := False; 
        fncToolBarPopup.Buttons[POP_BACKT].Visible := False; 
        fncToolBarPopup.Buttons[POP_REMOV].Visible := True; 
      end; 
      otQuarantine: 
      begin 
        fncToolBarPopup.Buttons[POP_RADAR].Visible := True; 
        fncToolBarPopup.Buttons[POP_FAVOR].Visible := True; 
        fncToolBarPopup.Buttons[POP_QTINE].Visible := False; 
        fncToolBarPopup.Buttons[POP_BACKT].Visible := True; 
        fncToolBarPopup.Buttons[POP_REMOV].Visible := False; 
      end; 
      otBackTest: 
      begin 
        fncToolBarPopup.Buttons[POP_RADAR].Visible := True; 
        fncToolBarPopup.Buttons[POP_FAVOR].Visible := True; 
        fncToolBarPopup.Buttons[POP_QTINE].Visible := True; 
        fncToolBarPopup.Buttons[POP_BACKT].Visible := False; 
        fncToolBarPopup.Buttons[POP_REMOV].Visible := False; 
      end; 
    end; 

 
The result is, that if the Popup is first activated on the object type Favourites item where 
only one button is visible the result is correct: 

 
 
But if any of the other object types are selected again only a single button is shown: 

  
 



If I restart my application and fist select an object type associated with multiple buttons, the 
result is correct: 

 
 
If I then select the object type Favourites where only one button is supposed to be visible I 
get the following result: 

 
 
How do I fix this behaviour that all visible buttons are displayed and the toolbar is resized 
correctly? 
 


